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PSC Clerkship (Prelims) Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) £z!uþëûy˜ !›îûîû þ™!e„þyîû ¢Á™y”„þ !Šéöìœ˜ ö„þŸî‰þw ö¢˜Ð
ö„þŸî‰þw ö¢˜ 1838 !…ÊÞÝþyöì· „þœ„þy“þyöì“þ ‹§Ã@ùÌ£’
„þöìîû!Šéöìœ˜Ð !“þ!˜ ~„þ‹˜ ¢›y‹ ¢‚ßþñyîû„þ !Šéöìœ˜Ð

2. (d) ¢Á™!_îû x!•„þyîû
‰þ“%þíÅ ¢‚!î•y˜ ¢‚öìŸy•˜#öì“þ 1955 ¢yöìœ 31 ˜‚ •yîûy
S¢Á™!_îû x!•„þyîûV îy!“þœ „þîûy £öìëûöìŠéÐ

3. (b) xyˆ%öìîûîû =öìFŠéîû ˜Äyëû „þÄyœ!¢ëûy› „þyîÅöì̃ öìÝþîû ö„þœy¢öì„þ
!¢öìÞÝþy!œí îöìœÐ

4. (c) £z!uþëûy˜ xöìëûœ „þöìþ™ÅyöìîûŸ˜ !œ!›öìÝþvþÐ
5. (a) 350A •yîûy

343A ˜‚ •yîûy ­ ö„þöìwîû ¢îû„þy!îû ¦þy¡ìy
350 ˜‚ •yîûy ­ ›y“,þ¦þy¡ìy
351 ˜‚ •yîûy ­ !£!¨ ¦þy¡ìyîû vþz§¬ëû̃

6. (c) îý!”˜ öÞÝþîûö ìëûvþë%_« ç¡ì%• ö¢îöì˜ ¢,ÜT öîûy†!Ýþ £œ
x!ÞÝþçöìþ™yöìîû!¢¢Ð

7. (b) 1975 !…ÊÞÝþyöì·
¢‚!î•yöì̃ îû 36“þ› ¢‚öìŸy•öì̃  xy£z̃  1975 ~îû x•#öì̃
¦þyîûöì“þîû ¢‚!î•yöì̃  371(F) ~îû x•#öì̃  îûyöìÜTÉîû ‹˜Ä !îöìŸ¡ì
!î•y˜ öîûöì… ~£z îûy‹Ä!Ýþ xîöìŸöì¡ì 26 ~!²Ìœ 1975 ¢yœ
öíöì„þ ¦þyîû“þ#ëû £zvþz!˜ëûöì̃ îû þ™)’ÅyD îûy‹Ä £çëûyîû !¢kþyhsþ
!˜öìëûöìŠéÐ

8. (d) 11 ‹%œy£z ¢yîûy !îÙ»‹%öìvþü þ™y!œ“þ £œ çëûyÓÅþ þ™þ™%öìœŸ˜
övþÐ ~îŠéîû ~£z !”îöì¢îû !í› £œéôô ‘Leave no one
behind, count everyone’.

9. (b) îû*þ™y
îû*þ™y •y“%þ !˜ÜñyŸöì̃  ¢yëûy˜y£zvþ þ™kþ!“þ îÄî£*“þ £ëûÐ îû*þ™yîû
²Ì•y˜ xy„þ!îûöì„þîû ˜y› £œ xyöì‹Å̃ Ýþy£zÝþÐ

10. (b) ›%oyßþ³þ#!“þîû ¢öìD öî„þyîûc þ™!îû›yþ™ „þîûyîû ‹˜Ä îÄî£yîû „þîûy
£ëûéôôôé !šþ!œþ™¢ „þy¦ÅþÐ

11. (a) SEBI ²Ì!“þ!Ûþ“þ £öìëû!Šéœ 1992 ¢yöìœÐ SEBIéôéîû ¢”îû
”®îû ›£yîûyöìÜTÉîû ›%Áºy£zöì“þ xî!ßþi“þÐ î“Åþ›yöì̃  ~îû ö‰þëûyîû›Äy˜
›y•î# þ™%!îû îy‰þÐ

12. (c) ¢Á±!“þ ö²Ì¢ £z̃ šþöì›ÅŸ˜ î%Äöìîûyîû ˜“%þ˜ !vþöìîûQîû ö‹˜yöìîûœ
!£öì¢öìî !˜ë%_« £ö ìœ˜ •#öìî ûw çGþyÐ !“þ!˜ £z!uþëûy˜
£z̃ šþöì›ÅŸ˜ ¢y!¦Åþöì¢îû ~„þ‹˜ !¢!˜ëûîû x!šþ¢yîû !Šéöìœ˜Ð
!“þ!˜ öŸšþyœ# Ÿîûöì’îû ßþiyöì̃  ßþiœy!¦þ!¡ì_« £öìœ˜Ð

13. (b) Das Kapital î£z!Ýþîû öœ…„þ £öìœ˜ „þyœÅ ›y„Åþ¢Ð
14. (d) òxÄy!rÝþöì£›yöìîû!‹„þó !¦þÝþy!›˜ £œ !¦þÝþy!›˜éôéKÐ !¦þÝþy!›˜éôéK

šþÄyöìÝþ oyîÄÐ ~!Ýþ îû_«“þMþéöì̃  ¢£yëû“þy „þöìîûÐ
15. (a) òöÝþyvþîû›œó ‹yî!“þ îÄîßþiyîû ¢öìD x!•„þ þ™!îû!‰þ“þÐ

16. (b) ¢Á±!“þ x“%þœ „%þ›yîû ö‰þï•%îû# öÝþ!œ„þ› öîû=öìœÝþ!îû xí!îû!Ýþ
xšþ £z!uþëûyîû (TRAI)ôé~îû ˜“%þ˜ ¢!‰þî !£öì¢öìî !˜ë%_«
£öìœ˜Ð !“þ!˜ 1989 ¢yöìœîû îÄyöì‰þîû ~„þ‹˜ öÝþ!œ„þ› ¢y!¦Åþ¢
x!šþ¢yîû !Šéöìœ˜Ð

17. (b) ¦þyîûöì“þîû Ç%þo“þ› ¢vþü„þ þ™öìíîû ˜y› £œ NH-47AÐ
18. (d) ¦þyîûöì“þ ö†yuþ vþzþ™‹y!“þ ›y˜%öì¡ìîû ¢‚…Äy ¢îÅy!•„þÐ
19. (c) x›îûyî“þ# !ŸÒ„þœyîû !î„þyŸ ¢y“þîy£˜ îûy‹î‚öìŸîû ¢›ëû

‡öìÝþÐ
20. (d) £zvþz˜y£zö ìÝþvþ ö˜Ÿ˜öì¢îû “þîûö ìšþ ²Ì!“þîŠéîû 21 ‹%˜

£zrÝþyîû̃ ÄyŸ˜yœ öëy†y !”î¢ þ™yœ˜ „þîûy £ëûÐ 2024 ¢yöìœîû
£zrÝþyîû̃ ÄyŸ˜yœ öëy†y !”îöì¢îû !í› £œéôô Yoga for Self
and Society.

21. (b) 1942 ¢yöìœîû 8 xy†ÞÝþ ¦þyîû“þ Šéyöìvþüy xyöì̈ yœ˜ £öìëû!ŠéœÐ
ò¦þyîû“þ Šéyöìvþüy xyöì̈ yœöì̃ îû îûy’#ó ˜yöì› þ™!îû!‰þ“þ !Šéöìœ˜
xîû&’y xy¢šþ xyœ#Ð

22. (b) òœyœ îy†ó „þ’ÅyÝþ„þ îûyöì‹Äîû öîDyœ%îû&öì“þ xî!ßþi“þÐ
23. (d) ‹y£yD#îû 1569 !…ÊÞÝþyöì· ‹§Ã@ùÌ£’ „þöìîû!Šéöìœ˜Ð ‹y£yD#îû

~„þ‹˜ !î…Äy“þ !‰þe!ŸÒ# !Šéöìœ˜Ð ‹y£yD#öìîûîû ¢›y!•
¦þyîûöì“þîû îy£zöìîû xî!ßþi“þÐ

24. (c) 18 ‹%˜ ¢yîûy !îÙ»‹%öìvþü 'Sustainable Gastronomy
Day' þ™y!œ“þ £œÐ

25. (a) œvÅþ vþyœöì£ï!¢ òßþºc!îöìœyþ™ ˜#!“þó ²Ì’ëû̃  „þöìîû̃ Ð œvÅþ
vþyœöì£ï!¢ 1848-1856 ¢yœ þ™ëÅhsþ ¦þyîûöì“þîû †¦þ˜Åîû
ö‹˜yöìîûœ !Šéöìœ˜Ð

26. (a) öþ™y!œç !Ýþ„þy 1955 ¢yöìœ ö‹y˜y¢ ¢Íñ xy!îÜñyîû
„þöìîû!Šéöìœ˜Ð

27. (d) ¦þyîûöì“þîû ¢îÅî,£ê î¤y•– ¢”Åyîû ¢öìîûyîîû î¤y• ˜›Å”y ˜”#îû çþ™îû
xî!ßþi“þÐ ˜›Å”y ˜”# þ™!Øþ›îy!£˜# ˜”#Ð ˜›Å”y ˜”# x›îû
„þ^ùÝþ„þ þ™îÅ“þ öíöì„þ vþzêþ™§¬ £öìëûöìŠéÐ

28. (b) ”Ä !¢!„þvþz!îû!Ýþ‹ xÄyuþ öîyvÅþ xšþ £z!uþëûy SSEBIV ö„þþ !¦þ
„þy›yíéôé~îû ö˜“,þöìc ò£y£z!îÊvþ !¢!„þvþz!îû!Ýþ‹ xÄyvþ¦þy£z‹!îû
„þ!›!Ýþó †àþ˜ „þöìîûöìŠéÐ ~îû ö›yÝþ ¢”¢Ä ¢‚…Äy £œ 20 ‹˜Ð
~„þ ˜‹öìîû ö¢!î­
 ²Ì!“þÛþy„þyéœ ­ 1992 ¢yœÐ
 ¢”îû „þyëÅyœëû ­ ›%Áºyé£zÐ
 î“Åþ›y˜ ö‰þëûyîû›Äy˜ ­ ›y•î# þ™%!îû îy‰þÐ

29. (a) ”#˜éôé£zéôé£zœy£#óîû ¢”¢Ä !Šéöìœ˜ îûy‹y î#îûîœÐ xy„þîîû
”#˜éôé£zéôé£zœy£# “þöì_î́û ²Ìî“Åþ˜ „þöìîû!Šéöìœ˜Ð

30. (b) ›y£zöìe«y “þîûD
öÝþ!œ!¦þ¢˜ ç öîû!vþç ö²Ìy@ùÌyöì›îû ‹˜Ä öîû!vþç çöìëû¦þ îÄî£*“þ
£ëûÐ
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31. (b) ¦þîû“þ˜yÝþÄ› £œ ~„þ!Ýþ Ÿyßþf#ëû ˜,“þÄÐ ~!Ýþ “þy!›œ˜yvþYöì“þ
²Ì‰þ!œ“þ xyöìŠéÐ ëy!›˜# „,þ¡Œ›)!“Åþ ¦þîû“þ˜yÝþÄ› ˜,öì“þÄîû ¢yöìí
ë%_«Ð

32. (a) !îÊöì‹w „%þ›yîû !¢Dœ ~„þ‹˜ öÝþ!œ„þ!›vþz!˜öì„þŸ˜¢
~†!‹!„þvþz!Ýþ¦þ !Šéöìœ˜Ð !“þ!˜ ¦þyîûöì“þîû £zrÝþyîûöì̃ Ýþ övþÝþy
¢y!¦Åþöì¢îû ‹˜„þ !£¢yöìî þ™!îû!‰þ“þÐ !“þ!˜ !îöì”Ÿ ¢Mþéyîû
!˜†› !œ!›öìÝþöìvþîû ö‰þëûyîû›Äy˜ !£¢yöìî ”#‡Å!”˜ „þ›Åîû“þ
!Šéöìœ˜Ð

33. (d) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû ²Ìhßþyî˜y þ™![þ“þ ‹ç£îûœyœ ö˜öì£îû&
myîûy îû!‰þ“þ £öìëû!ŠéœÐ !“þ!˜ ßþºy•#˜ ¦þyîûöì“þîû ²Ìí› ²Ì•y˜›sþf#
!Šéöìœ˜Ð “¤þyîû !î…Äy“þ î£zöìëûîû ˜y› !vþ¢„þ¦þy!îû xšþ £z!uþëûyÐ

34. (d) £zöìœyîûy ›!¨îû îûyÜTÉ„)þÝþ îûy‹î‚Ÿ ÷“þ!îû „þöìîû!ŠéœÐ
35. (d) îÏÄy„þ îy„þ ‹y“þ#ëû vþz”Äy˜ =‹îûyöìÝþîû ¦þy¦þ˜†îû ö‹œyëû

xî!ßþi“þÐ
36. (c) !î!ŸÜT ¢›y‹„þ›Å# ~ ö„þïŸœ 1986 ¢yöìœ ¢›y‹öì¢îy›)œ„þ

„þy‹„þöì›Åîû ‹˜Ä þ™p×# ¢Á¿yöì˜ ¦)þ!¡ì“þ £öìëûöìŠé˜Ð !“þ!˜
vþz_îûy…öì[þîû !›öì¢ï!îûöì“þ xî!ßþi“þ œyœ îy£y”%îû ˜ÄyŸ˜yœ
xÄy„þyöìvþ!› xšþ xÄyvþ!›!˜öìßþT ÉŸ˜éôé~ ”#‡Å ¢y“þ îŠéîû
xÄyöì¢y!¢öìëûÝþ ²Ìöìšþ¢îû !£¢yöìî „þ›Åîû“þ !Šéöìœ˜Ð

37. (a) !¢Ýþy £œ ö„¤þöì‰þyîû †›˜yDÐ
38. (c) ›y˜%öì¡ìîû Ÿîû#öìîû xöìÝþyöì‹yöì›îû ¢‚…Äy 22 ö‹yvþüyÐ
39. (d) !“þœþ™yvþüy îÄyöìîû‹ ›ëû)îûyÇþ# ˜”#îû çþ™îû xî!ßþi“þÐ ~£z ˜”#

Gþyvþü…[þ ç þ™!Øþ›îöìDîû ›•Ä !”öìëû ²Ìîy!£“þÐ ~£z ˜”#îû ÷”‡ÅÄ
£œ 250 !„þ!›Ð

40. (d) ÷¢˜Äîy!£˜#
›˜¢î”yîû „þíy!Ýþîû xíÅ £œ þ™”›ëÅy”yÐ

41. (a) Consensus
42. (b) Secret
43. (c) He asked his servant why he was so lazy that

day.
44. (c) In a hurry
45. (b) five day week
46. (c) because of
47. (a) Worrisome
48. (b) have
49. (b) encounter difficulties
50. (d) to have a difficult time
51. (c) To start a conversation
52. (d) disputable
53. (a) Devious
54. (a) Goodwill
55. (d) reward and punishment
56. (c) I cannot wear this shirt any longer
57. (c) who
58. (b) gave away
59. (b) abuse

60. (a) for
61. (d) delude
62. (a) Kleptomaniac
63. (d) Disguised
64. (c) look up
65. (c) Silence
66. (b) put up with
67. (c) for
68. (c) Lions
69. (b) Insect
70. (a) having arrived

71. (a) öÝþÆ̃ !Ýþîû †!“þöìî† 
 öÝþÆöì̃ îû ÷”‡ÅÄ  ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ

²Ìöìëûy‹˜#ëû ¢›ëû
+

=

600 1200 1800 50
36 36


    !›Ýþyîû/ö¢öì„þuþ

xyîyîû– öÝþÆ̃ !Ýþîû †!“þöìî† 
 öÝþÆöì̃ îû ÷”‡ÅÄ ö¢“%þîû ÷”‡ÅÄ

²Ìöìëûy‹˜#ëû ¢›ëû
+ 

=

îy– 
600 220050

T




îy– 2800T
50



îy– T = 56 ö¢öì„þuþ
72. (a) xy¢œ (P) = 400 Ýþy„þy

¢›ëû (t) = 10 îŠéîû
ö›yÝþ ¢%” (I) = 280 Ýþy„þy

I 100 280 100r 7%
P t 400 10
 

   
 

73. (c) •!îû– 60 !„þ!›/‡^ùÝþy öîöì† îy¢!Ýþ t !„þ!› ëyëû

²ÌÙÀy˜%¢yöìîû– 60 × t = 45 ×
1t 5
2

  
 

îy– 60t = 45t + 45 × 
11
2

îy– 15t 
45 11

2




îy– 
33t
2



 !˜!”ÅÜT ”)îûc 3360 990
2

   !„þ!›

74. (b) 100!Ýþ !vþöì›îû e«ëû›)œÄ = 100 × 6 = 600 Ýþy„þy
²Ìí› 25!Ýþ !vþöì›îû !îe«ëû›)œÄ

 100 10
25 6 165

100


    Ýþy„þy

!m“þ#ëû 25!Ýþ !vþöì›îû !îe«ëû›)œÄ

100 2525 6 112.5
100
     

 
 Ýþy„þy
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öŸ¡ì 50!Ýþ !vþöì›îû !îe«ëû›)œÄ

100 2050 6 360
100
     

 
 Ýþy„þy

ö›yÝþ !îe«ëû›)œÄ = (165 + 112.5 + 360) = 637.5
Ýþy„þy

“þyîû œyöì¦þîû £yîû 
637.5 600 100 % 6.25%

600
    

 
75. (c) •!îû– B, x ›y¢ þ™îû îÄî¢yëû öëy† ö”ëûÐ

²ÌÙÀy˜%¢yöìîû–
64000 × 12 : 48000 × (12 – x) = 2 : 1

îy– 
16 2

12 x 1



îy– 2x = 8
îy– x = 4

76. (a) A, B ç C !“þ˜‹öì̃ îû ›)œ•öì̃ îû x˜%þ™y“þ
= A × 5 : B × 7 : 4600 × 9

~î‚ C ~îû œ¦þÄy‚Ÿ 
1 1 231
7 5 35

     
 

 x‚Ÿ

C, 
23
35 x‚Ÿ œ¦þÄy‚Ÿ þ™yëû 4600 × 9 Ýþy„þy ›)œ•öì̃ îû

‹˜ÄÐ

 A ~îû 
1
7  x‚Ÿ œ¦þÄy‚öìŸîû ‹˜Ä ›)œ•˜ £ëû

35 14600 9 9000
23 7

     Ýþy„þy

 A ~îû ›)œ•˜ 
9000 1800

5
   Ýþy„þy

77. (a) •!îû– öÝþ!îœ!Ýþîû e«ëû›)œÄ = 100 Ýþy„þy
!îe«ëû›)œÄ = (100 + 60) = 160 Ýþy„þy

•yëÅ›)œÄ 
100160

100 20
 


= 200 Ýþy„þy

40% Šéyöìvþü !î!e« „þîûöìœ !îe«ëû›)œÄ £ëû

100 40200
100
    

 Ýþy„þy

60200 120
100

     
 Ýþy„þy

 “þ…˜ œyöì¦þîû £yîû = (120 – 100) = 20%
78. (b) 1 ‡^ùÝþyëû ö‰þïîyF‰þy!Ýþ ¦þ!“Åþ £ëû

1 1 1 6 5 3 8 2
10 12 20 60 60 15

 
     

ö‰þïîyF‰þy!Ýþ ¦þ!“Åþ £öì“þ ¢›ëû œy†öìî 
1 15
2 2

15

   ‡^ùÝþy

    = 7.5 ‡^ùÝþy

79. (c) 
x 1 3.75

8 7




îy– 7x + 7 = 30
îy– 7x = 23

îy– x = 23
7

80. (b) 

›y

ßþf#öìœy„þ

!””y

öîy˜

~„þ›ye öŠéöìœ
öœy„þ 

81. (a) 15 !›Ýþyîû

15 !›Ýþyîû

15 !›Ýþyîû

20 !›Ýþyîû²Ìí›
xîßþiy˜

öŸ¡ì
xîßþiy˜

2 215 20

625 25 
82. (a) ²Ìí› öÇþöìe ²Ìí› ˜Áºîû!Ýþöì„þ !m=’ „þöìîû ç£z ˜Áºîû!Ýþ ²Ìí›

˜Áºöìîûîû ¢öìD =’ „þîûy £öìëûöìŠéÐ “þy£z !m“þ#ëû öÇþöìeç
~„þ£zîû„þ› £öìî xíÅyêéôôôé
4   :   32   ::   8   :   128

(4 × 2) × 4 (8 × 2) × 8

83. (c) B

2nd

A D

1st 4th
2 + 1 + 4 = 7 

~„þ£z¦þyöìî–

L

12th

O W

12 + 15 + 23 = 50
5 + 0 = 5 

15th 23rd

84. (d) ~…yöì̃  !¢!îû‹!Ýþöì“þ þ™îûþ™îû Prime Number =!œ öœ…y
xyöìŠéÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20244

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

85. (d) ~…yöì̃  ”%!Ýþ !¢!îû‹ xyöìŠé
(i) 2, 3, 2×3 = 6, 6×3 = 18, 18×6 = 108

(ii) +5D +5 +5 +5I N S X
86. (a) •!îû– !î‹öìëûîû îëû¢ = x îŠéîû

x!›öì“þîû îëû¢ = (x + 8) îŠéîû
 x + (x + 8) = 42
2x = 42 – 8 = 34
x = 17
!î‹öìëûîû îëû¢ = 17 îŠéîû

87. (d) •!îû– ö›yÝþ „þ›Å# = x ‹˜
Ÿ“Åþy˜%¢yöìîû– 60%x + 800 = x

îy– 
60 x 800 x

100
 

îy– 
60x x 800

100
 

îy– 
40x 800
100



îy– x = 2000 ‹˜

 þ™%îû&¡ì„þ›Å# = 2000 × 60% = 1200 ‹˜
88. (a) xy¢œ (P) = 720

ö›yÝþ ¢%” (I) = (882 – 720) = 162 Ýþy„þy

¢›ëû (t) 1 31
2 2

  îŠéîû

Pr tI
100

 

îy– 720 3 r162
100 2

 





162 100 2r 15%

720 3
 

 


xyîyîû– xy¢œ (P) = 800 Ýþy„þy
ö›yÝþ ¢%” (I) = (1040 – 800) = 240 Ýþy„þy
¢%öì”îû £yîû (r) = 15%

¢›ëû I 100 240 100(t) 2
P r 800 15
 

  
 

 îŠéîû

89. (a) ¢%”éôéxy¢œ (A) = 19200 Ýþy„þy– xy¢œ P = 12000 Ýþy„þy
ö›yÝþ ¢%” (I) = (19200 – 12000) = 7200 Ýþy„þy
¢›ëû (t) = 3 îŠéîû– ¢%öì”îû £yîû (r) = ?

1 100r
P t





îy– 
7200 100r 20%
12000 3


 



xyîyîû xy¢œ (P) = 12000 Ýþy„þy– ¢%öì”îû £yîû (r) =
20%
¢›ëû (n) = 2 îŠéîû– ¢%”éôéxy¢œ (A) = ?

nrA P 1
100

   
 

îy– 
220A 12000 1

100
   
 

îy– 
6 612000 17280
5 5

    Ýþy„þy

90. (d) ²Ìí› ç !m“þ#ëû !›×öì’ xy¢y› ‰þyöìëûîû þ™!îû›y’ ëíye«öì›
7

11  ç 
5
7

˜“%þ˜ !›×öì’ xy¢y› ‰þy 
13
19



¢%“þîûy‚ ˜“%þ˜ !›×’ ÷“þ!îû „þîûöì“þ ”y!‹Å!œ‚ ç xy¢y› ‰þyöìëûîû
x˜%þ™y“þ £öìî

5 13 13 7 4 10: :
7 9 19 11 133 209

   

4 209 22 : 35
133 10

  

91. (a) !˜öì’Åëû £yîû 
100 30 6100 92 %
100 40 7

     
92. (a) öþ™þ™yîû I ~ öšþœ „þöìîûöìŠé = (100 – 70) = 30%

öþ™þ™yîû II ö“þ öšþœ „þöìîûöìŠé = (100 – 60) = 40%
ö›yÝþ öšþœ „þîûy Šéye ¢‚…Äy = (30 + 40 – 15) = 55%
vþz¦þëû !î¡ìöìëû þ™yŸ „þöìîûöìŠé = (100 – 55) = 45%

ö›yÝþ þ™îû#ÇþyíÅ#îû ¢‚…Äy 100270 600
45

    ‹˜

93. (c) ‹˜¢‚…Äy î,!kþ öþ™öìëûöìŠé = (4352 – 4000) = 352

Ÿ“þ„þîûy î,!kþ öþ™öìëûöìŠé 
352 100% 8.8%
4000

  

¢%“þîûy‚ 8 10

1.2 0.8

8.8

²ÌÙÀy˜%¢yöìîû–
5 unit = 4000
1 unit = 800
 þ™%îû&¡ì ‹˜¢‚…Äy = (3 × 800) = 2400 ‹˜

94. (c) öÇþešþöìœîû x˜%þ™y“þ = 4 : 3
vþzF‰þ“þyîû x˜%þ™y“þ = 3 : 4

²Ìí› !e¦%þöì‹îû öÇþešþœ
!m“þ#ëû !e¦%þöì‹îû öÇþešþœ

=



5Achievers

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

——————

1 1

2 2

1 b h
2
1 b h
2

 


 

(b1, b2 ëíye«öì› ¦)þ!› ç h1, h2 vþzF‰þ“þyV

îy– 
1

2

1 b 34 2
13 b 4
2

 


 

îy– 1

2

b 16
b 9



îy– b1 : b2
 = 16 : 9

95. (b) ²Ìí› öÝþÆ̃ !Ýþ 1.5 ‡^ùÝþyëû 120 !„þ!› ~!†öìëû ëyëû

”)îûc
öî†=¢›ëû

120 6
100 80

 


 ‡^ùÝþy

 !m“þ#ëû öÝþÆ̃ !Ýþ 6 ‡^ùÝþy þ™îû ²Ìí› öÝþÆöì̃ îû ¢öìD !›!œ“þ £ëûÐ
 “þyöì”îû ¢yÇþyê £öìî ”%þ™%îû 1.30 ÝþyëûÐ

96. (a)  2 3

„þ’Å=!œ öëy† „þîûöìœ ¡ìvþü¦%þ‹!Ýþ 6!Ýþ ¢›îyý !e¦%þöì‹ !î¦þ_«
£ëû– ëyöì”îû îyý = 23 ö¢!›
 ²Ì!“þ!Ýþ !e¦%þöì‹îû öÇþešþœ

 23 32 3 4 3 3 3
4 4

      î†Åöì¢!›

 ¡ìvþü¦%þöì‹îû ö›yÝþ öÇþešþœ

6 3 3 18 3   î†Åöì¢!›Ð

97. (b) •!îû– îÄy¢y•Å ëíye«öì› = 3x ~„þ„þ ç 2x ~„þ„þ
 þ™,Ûþ“þöìœîû öÇþešþöìœîû x˜%þ™y“þ

2
1
2
2

4 r
4 r





Sr1 ç r2 ëíye«öì› îÄy¢y•ÅV

 
 

2

2

3x 9 9 : 4
42x

  

98. (a) •!îû– 28!Ýþ !‹!˜öì¢îû !îe«ëû›)œÄ = 28 Ýþy„þy
28!Ýþ !‹!˜öì¢îû e«ëû›)œÄ = (28 – 4) = 24 Ýþy„þy

Ÿ“þ„þîûy œy¦þ 
4 100 2100 16 %

24 6 3
   

99. (d) !‰þ!˜îû ”y› 10% £Éy¢ þ™yçëûyëû 22500 Ýþy„þyëû 25 ö„þ!‹
x!“þ!îû_« !‰þ!˜ e«ëû „þîûöì“þ þ™yöìîûÐ

þ™)öìîÅîû ”y› 
1002250 25000
90

    Ýþy„þy

þ™)öìîÅ ²Ì!“þ ö„þ!‹ !‰þ!˜îû ”y› !Šéœ

25000 22500
25

 

2500 100
25

   Ýþy„þy

100.(d) 
22x 3
x

 

1 1 3x 3 x
x x 2

       
 

31 27x
x 8

    
 

3
3

1 1 27x 3 x
x x 8

      
 

3
3

1 3 27x 3.
x 2 8

   

3
3

1 27 9 27 36x
x 8 2 8


    

3
3

1 9 7x 2 2
x 8 8

     


